DopMyJbl

1) S= Vt 4) S=ab
2)P=4a 5) P=2(a+b)
3)V=S:t 6) S=a-a
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)PUTH PELLEHNE YPaBHEHWIA.
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YCTHbLIM CyYeT:

YnpocTutb: 54a — 5a + a=
13c+8 —-3Cc =
OXpx12=
PelunTb ypaBHEHUE:
100 -y =90
C +18=54
9y =180

=50a
=10c + 8



Dopmy.Jibis

= V=12 KkMm/M SEI[ORY,
t=6 4y t=6y
S= 7km \V/="?

S=72KMm V=15km/\Y




D opmyABI

) !I
2=9AM a=21cm
S= PKB.AM S=147kB.cMm
P=?Am b=r?cm

S =81xB.AM, P = 36AMm b =7cm



YpaBHEHUE

» X+2X=45 » 17a—a = 320
3X =45 16a = 320
X=45:3 a=320:16
X =15 a=20
15+2:15= 45 17-20 — 20 = 320

OTBeT: X=15 OTBeT: a=20
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Havau owmnbky:

+ a=12m, b=4m P=48v

+ V=150m, t=4c S=154m
- a=11am S=121am
+ 24p -2p +15 = 37p

- 650 + x = 1000 x=1650

+ 9y =270 y =279
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[TpoBepbL cebsi:

-Oopmyna HaxoXaeHUs CKOPOCTMW:.

A)V=St b)S=Vt B)t=S:V
-Oopmyna HaxoxaeHua nnowagn NPAMOVT.

A)S=ab b)S=(ab)2 B)P= 4a
-OopmMmyna HaxoXxaeHna nepumMmeTpa KBagpara

A)P=(a+b) b) P=a+b+c B) P=4a

-Hantn a, ecnun Pke.= 48cm

A) 24cwm b) 12cm B) 44cm



